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QUESTION 1

A large retail chain realizes that while there has not been any loss of data, IT security has not been a priority and should
become a key goal for the enterprise. What should be the FIRST high-level initiative for a newly created IT strategy
committee in order to support this business goal? 

A. Identifying gaps in information asset protection 

B. Defining data archiving and retrieval policies 

C. Recruiting and training qualified IT security staff 

D. Modernizing internal IT security practices 

Correct Answer: A 

 

QUESTION 2

An enterprise is initiating efforts to improve system availability to mitigate IT risk to the business. Which of the following
results would be MOST important to report to the CIO to measure progress? 

A. Incident severity and downtime trend analysis 

B. Probability and seventy of each IT risk 

C. Financial losses and bad press releases 

D. Customer and stakeholder complaints over time 

Correct Answer: A 

 

QUESTION 3

An enterprise\\'s chief information officer (CIO) has been receiving complaints from business executives regarding the
amount their units are being charged for IT services. To maintain a good relationship with business peers, the CIO
wants to be responsive to these complaints. To address this issue, the FIRST step should be to: 

A. agree to reduce charge rates and improve relationship management with the business. 

B. look into outsourcing of support functions to drive down the cost structure. 

C. ask the chief financial officer (CFO) about budget revisions for the business units\\' IT expenditures. 

D. quantify consumption and service level agreement (SLA) achievements per business unit. 

Correct Answer: D 

 

QUESTION 4
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An enterprise decides to accept the IT risk of a subsidiary located in another country even though it exceeds the
enterprise\\'s risk appetite. Which of the following would be the BEST justification for this decision? 

A. Risk framework alignment 

B. Local market common practices 

C. Compliance with local regulations 

D. Technical gaps among subsidiaries 

Correct Answer: C 

 

QUESTION 5

Which of the following should be the PRIMARY input when developing IT strategy? 

A. Vision statement 

B. Process and capability maturity 

C. Governance objectives 

D. Balanced scorecard 

Correct Answer: C 
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